
X[0] <= 0.5
mse = 0.96

samples = 26377
value = -0.006

X[17] <= 0.5
mse = 0.659

samples = 20650
value = 0.268

True X[16] <= 0.5
mse = 0.797

samples = 5727
value = -0.998

False

X[1] <= 0.5
mse = 0.167

samples = 1135
value = -0.112

X[21] <= 0.349
mse = 0.679

samples = 19515
value = 0.29

X[7] <= 0.5
mse = 0.194
samples = 75
value = -0.35

X[21] <= -0.93
mse = 0.161

samples = 1060
value = -0.095

X[21] <= 1.576
mse = 0.126
samples = 72
value = -0.317

X[3] <= 0.5
mse = 1.086
samples = 3

value = -0.952

X[26] <= 0.5
mse = 0.114
samples = 68
value = -0.294

X[5] <= 0.5
mse = 0.131
samples = 4

value = -0.816

X[29] <= 0.5
mse = 0.117
samples = 56
value = -0.332

X[20] <= 0.5
mse = 0.045
samples = 12
value = -0.092

mse = 0.122
samples = 36
value = -0.416

mse = 0.087
samples = 20
value = -0.212

mse = 0.03
samples = 11
value = -0.124

mse = 0.0
samples = 1
value = 0.424

X[21] <= 2.122
mse = 0.045
samples = 3

value = -0.971

mse = -0.0
samples = 1

value = -0.197

mse = 0.004
samples = 2

value = -0.853

mse = 0.0
samples = 1

value = -1.324

X[18] <= 0.5
mse = 0.006
samples = 2

value = -1.688

mse = 0.0
samples = 1
value = 0.519

mse = 0.0
samples = 1

value = -1.644

mse = 0.0
samples = 1

value = -1.821

X[3] <= 0.5
mse = 0.164

samples = 316
value = -0.008

X[24] <= 0.5
mse = 0.155

samples = 744
value = -0.133

X[21] <= -1.524
mse = 0.106

samples = 150
value = -0.09

X[21] <= -1.324
mse = 0.204

samples = 166
value = 0.067

X[27] <= 0.5
mse = 0.124
samples = 2
value = 0.635

X[21] <= -0.936
mse = 0.097

samples = 148
value = -0.102

mse = 0.0
samples = 1
value = 0.838

mse = -0.0
samples = 1
value = 0.026

mse = 0.089
samples = 145
value = -0.117

mse = 0.072
samples = 3
value = 0.447

X[19] <= -1.35
mse = 0.22

samples = 69
value = 0.165

X[21] <= -1.278
mse = 0.18

samples = 97
value = -0.007

mse = 0.116
samples = 59
value = 0.106

mse = 0.756
samples = 10
value = 0.58

mse = 0.35
samples = 14
value = -0.302

mse = 0.146
samples = 83
value = 0.03

X[19] <= -0.875
mse = 0.141

samples = 473
value = -0.099

X[21] <= 1.989
mse = 0.174

samples = 271
value = -0.192

X[9] <= 0.5
mse = 0.119
samples = 13
value = -0.341

X[22] <= 0.5
mse = 0.14

samples = 460
value = -0.09

mse = 0.046
samples = 11
value = -0.214

mse = 0.077
samples = 2

value = -0.874

mse = 0.147
samples = 298
value = -0.12

mse = 0.122
samples = 162
value = -0.035

X[11] <= 0.5
mse = 0.171

samples = 259
value = -0.176

X[13] <= 0.5
mse = 0.14

samples = 12
value = -0.5

mse = 0.178
samples = 189
value = -0.217

mse = 0.13
samples = 70
value = -0.056

mse = 0.1
samples = 7

value = -0.329

mse = 0.09
samples = 5

value = -0.757

X[1] <= 0.5
mse = 0.538

samples = 13416
value = 0.342

X[16] <= 0.5
mse = 0.97

samples = 6099
value = 0.175

X[2] <= 0.5
mse = 0.56

samples = 715
value = 0.148

X[9] <= 0.5
mse = 0.535

samples = 12701
value = 0.353

X[16] <= 0.5
mse = 0.595

samples = 607
value = 0.109

X[22] <= 0.5
mse = 0.289

samples = 108
value = 0.377

X[18] <= 0.5
mse = 0.57

samples = 595
value = 0.124

X[10] <= 0.5
mse = 1.248
samples = 12
value = -0.512

mse = 0.474
samples = 309
value = 0.207

mse = 0.66
samples = 286
value = 0.033

mse = 1.129
samples = 4
value = 0.348

mse = 0.705
samples = 8

value = -0.971

X[21] <= -0.043
mse = 0.326
samples = 72
value = 0.296

X[15] <= 0.5
mse = 0.174
samples = 36
value = 0.541

mse = 0.222
samples = 63
value = 0.345

mse = 0.955
samples = 9

value = -0.079

mse = 0.117
samples = 35
value = 0.508

mse = 0.0
samples = 1
value = 2.327

X[6] <= 0.5
mse = 0.412

samples = 9707
value = 0.371

X[22] <= 0.5
mse = 0.926

samples = 2994
value = 0.293

X[2] <= 0.5
mse = 0.336

samples = 9594
value = 0.367

X[16] <= 0.5
mse = 7.012

samples = 113
value = 0.735

mse = 0.357
samples = 4681
value = 0.341

mse = 0.315
samples = 4913
value = 0.392

mse = 0.137
samples = 109
value = 0.508

mse = 176.244
samples = 4
value = 8.215

X[32] <= 0.5
mse = 0.714

samples = 623
value = 0.143

X[16] <= 0.5
mse = 0.975

samples = 2371
value = 0.333

mse = 0.633
samples = 434
value = 0.219

mse = 0.863
samples = 189
value = -0.044

mse = 0.605
samples = 2205
value = 0.312

mse = 5.502
samples = 166
value = 0.583

X[19] <= 1.541
mse = 0.662

samples = 5809
value = 0.158

X[21] <= 3.766
mse = 6.886

samples = 290
value = 0.508

X[1] <= 0.5
mse = 0.593

samples = 4684
value = 0.2

X[19] <= 2.34
mse = 0.917

samples = 1125
value = -0.022

X[27] <= 0.5
mse = 0.696

samples = 255
value = -0.044

X[20] <= 0.5
mse = 0.583

samples = 4429
value = 0.214

mse = 0.744
samples = 157
value = -0.138

mse = 0.579
samples = 98
value = 0.112

mse = 0.558
samples = 4037
value = 0.194

mse = 0.784
samples = 392
value = 0.408

X[10] <= 0.5
mse = 0.906

samples = 915
value = 0.04

X[19] <= 2.362
mse = 0.879

samples = 210
value = -0.288

mse = 0.686
samples = 355
value = -0.052

mse = 1.038
samples = 560
value = 0.099

mse = 0.598
samples = 16
value = -1.054

mse = 0.847
samples = 194
value = -0.219

X[21] <= 1.956
mse = 6.679

samples = 289
value = 0.486

mse = -0.0
samples = 1

value = 10.641

X[24] <= 0.5
mse = 6.15

samples = 254
value = 0.352

X[21] <= 2.123
mse = 9.46

samples = 35
value = 1.462

mse = 4.216
samples = 180
value = 0.149

mse = 10.618
samples = 74
value = 0.859

mse = 18.107
samples = 7
value = 3.704

mse = 5.817
samples = 28
value = 0.914

X[21] <= 0.7
mse = 0.568

samples = 5062
value = -1.047

X[18] <= 0.5
mse = 2.409

samples = 665
value = -0.615

X[17] <= 0.5
mse = 0.566

samples = 3151
value = -1.007

X[1] <= 0.5
mse = 0.565

samples = 1911
value = -1.113

X[30] <= 0.5
mse = 0.224

samples = 130
value = -0.816

X[19] <= -1.473
mse = 0.579

samples = 3021
value = -1.015

X[19] <= -1.404
mse = 0.201
samples = 95
value = -0.896

X[14] <= 0.5
mse = 0.223
samples = 35
value = -0.595

X[24] <= 0.5
mse = 0.043
samples = 5

value = -1.295

X[19] <= -0.607
mse = 0.2

samples = 90
value = -0.874

mse = 0.005
samples = 2

value = -1.106

mse = 0.01
samples = 3

value = -1.485

mse = 0.259
samples = 29
value = -0.746

mse = 0.153
samples = 61
value = -0.945

X[19] <= 0.485
mse = 0.177
samples = 31
value = -0.668

X[8] <= 0.5
mse = 0.21
samples = 4

value = -0.012

mse = 0.158
samples = 25
value = -0.61

mse = 0.152
samples = 6

value = -1.009

mse = 0.053
samples = 3
value = -0.44

mse = 0.0
samples = 1
value = 0.416

X[29] <= 0.5
mse = 0.919
samples = 64
value = -0.718

X[19] <= 0.626
mse = 0.569

samples = 2957
value = -1.021

X[7] <= 0.5
mse = 0.987
samples = 51
value = -0.571

X[8] <= 0.5
mse = 0.263
samples = 13
value = -1.279

mse = 0.618
samples = 50
value = -0.67

mse = -0.0
samples = 1
value = 3.302

mse = 0.114
samples = 10
value = -1.442

mse = 0.036
samples = 3

value = -0.299

X[19] <= 0.608
mse = 0.561

samples = 2859
value = -1.029

X[21] <= 0.641
mse = 0.783
samples = 98
value = -0.799

mse = 0.562
samples = 2837
value = -1.026

mse = 0.196
samples = 22
value = -1.417

mse = 0.844
samples = 25
value = -0.466

mse = 0.712
samples = 73
value = -0.911

X[20] <= 0.5
mse = 0.247

samples = 128
value = -1.33

X[2] <= 0.5
mse = 0.583

samples = 1783
value = -1.099

X[21] <= 0.772
mse = 0.28

samples = 100
value = -1.267

X[9] <= 0.5
mse = 0.08

samples = 28
value = -1.54

X[19] <= 0.755
mse = 0.548
samples = 6

value = -0.815

X[3] <= 0.5
mse = 0.252
samples = 94
value = -1.293

mse = 0.097
samples = 5

value = -1.213

mse = 0.0
samples = 1
value = 0.379

mse = 0.277
samples = 81
value = -1.25

mse = 0.058
samples = 13
value = -1.521

X[26] <= 0.5
mse = 0.089
samples = 24
value = -1.467

X[3] <= 0.5
mse = 0.003
samples = 4

value = -1.734

mse = 0.065
samples = 21
value = -1.503

mse = 0.189
samples = 3

value = -1.119

mse = 0.001
samples = 3

value = -1.755

mse = 0.0
samples = 1
value = -1.63

X[17] <= 0.5
mse = 0.524

samples = 1089
value = -1.138

X[30] <= 0.5
mse = 0.671

samples = 694
value = -1.035

X[18] <= 0.5
mse = 0.168
samples = 37
value = -0.855

X[5] <= 0.5
mse = 0.532

samples = 1052
value = -1.147

mse = 0.136
samples = 22
value = -0.712

mse = 0.14
samples = 15
value = -1.066

mse = 0.54
samples = 461

value = -1.2

mse = 0.522
samples = 591
value = -1.108

X[22] <= 0.5
mse = 0.789

samples = 500
value = -0.994

X[3] <= 0.5
mse = 0.357

samples = 194
value = -1.138

mse = 0.382
samples = 88
value = -1.173

mse = 0.876
samples = 412
value = -0.952

mse = 0.428
samples = 67
value = -1.003

mse = 0.301
samples = 127
value = -1.214

X[22] <= 0.5
mse = 2.549

samples = 336
value = -0.482

X[21] <= -1.104
mse = 2.231

samples = 329
value = -0.751

X[21] <= -1.482
mse = 0.812
samples = 52
value = -1.03

X[1] <= 0.5
mse = 2.805

samples = 284
value = -0.38

mse = 0.0
samples = 1
value = 1.115

X[2] <= 0.5
mse = 0.764
samples = 51
value = -1.057

X[21] <= 0.591
mse = 0.776
samples = 41
value = -1.186

X[29] <= 0.5
mse = 0.5

samples = 10
value = -0.644

mse = 0.198
samples = 19
value = -1.39

mse = 1.423
samples = 22
value = -0.91

mse = 0.072
samples = 6

value = -0.918

mse = 0.897
samples = 4
value = 0.125

X[14] <= 0.5
mse = 5.337
samples = 5
value = 1.882

X[21] <= 1.349
mse = 2.642

samples = 279
value = -0.427

X[11] <= 0.5
mse = 3.339
samples = 4
value = 0.635

mse = 0.0
samples = 1
value = 4.376

mse = 0.019
samples = 2

value = -1.129

mse = 0.441
samples = 2
value = 2.398

X[6] <= 0.5
mse = 2.126

samples = 218
value = -0.55

X[3] <= 0.5
mse = 4.228
samples = 61
value = 0.007

mse = 2.045
samples = 217
value = -0.566

mse = -0.0
samples = 1
value = 4.825

mse = 1.211
samples = 25
value = -0.853

mse = 5.51
samples = 36
value = 0.644

X[21] <= -1.148
mse = 11.7

samples = 19
value = -0.146

X[19] <= 2.388
mse = 1.702

samples = 310
value = -0.784

X[21] <= -1.465
mse = 0.35

samples = 17
value = -1.168

X[11] <= 0.5
mse = 29.217
samples = 2
value = 7.696

mse = 0.0
samples = 1
value = 0.752

X[29] <= 0.5
mse = 0.191
samples = 16
value = -1.256

mse = 0.166
samples = 12
value = -1.384

mse = 0.028
samples = 4

value = -0.819

mse = 0.0
samples = 1
value = 0.051

mse = 0.0
samples = 1

value = 11.518

X[24] <= 0.5
mse = 1.59

samples = 292
value = -0.821

X[21] <= 2.731
mse = 3.096
samples = 18
value = -0.198

X[2] <= 0.5
mse = 1.419

samples = 228
value = -0.878

X[2] <= 0.5
mse = 2.145
samples = 64
value = -0.62

mse = 1.778
samples = 136
value = -0.784

mse = 0.861
samples = 92
value = -1.015

mse = 0.597
samples = 28
value = -1.023

mse = 3.063
samples = 36
value = -0.328

X[11] <= 0.5
mse = 4.83
samples = 3
value = 1.571

X[7] <= 0.5
mse = 2.493
samples = 15
value = -0.402

mse = 0.0
samples = 1
value = 4.346

mse = 1.47
samples = 2
value = 0.184

mse = 2.299
samples = 14
value = -0.578

mse = 0.0
samples = 1
value = 1.706


